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5 A 1,869,704 | 1,260,420 | 609,284 ([= 1,035,340] [ 77,568] [A+ 93,607] [ 663,189]
04 1BEx24+¢ 1,112,908 885,920 | 226,988 |[= 1,035,340] [J] 77,568]
4|8 X =24 412/A & B X 2| 1,035,340 842,300 193,040 [ 1,035,340]
O MI=SXEs| 2SH|(HNF=SLRIXIT)
> 398,340,000& - 385,300,000& = 13,040,000
O HFEZUHAEISXI200IASA T2 S(HF=ELXIXIT)
> 10,000,000& - 0& = 10,000,000
O MIEXEQS 32 JIsE2 AIGHI(HF=SEXIXIT)
> 40,000,000& - 0& = 40,000,000
O MNISXNEEHE SAHI(NFSETXE)
> 140,000,000& - 130,000,000& = 10,000,000
O NAZSASHALBI(M=EERIXIT)
> 50,000,000& - 40,000,000& = 10,000,000
O XY=X(SE=AolLR) FAS ASAHIA KIZAIZHIHFESEXXIT)
> 100,000,000& - 0& =100,000,000
O 9oy 2HH|(HM=SYXXIT)
> 111,000,000& - 101,000,000& = 10,000,000
441J|EIEX 2+ 77,568 43,620 33,948 [DI 77,568]
O MIIEXANEHBAAE NS(AIBIEAEEIR)
o 5,780,000& - 4,220,000& = 1,560,000
O HEZ HED |1 2HAIH|(GH=2AIEI=2 X8 9)3])
> 29,500,000& - 0& = 29,500,000
O SHAY J|2AIES HBAIHE SAH} DF(SH=2AIR=XIEQS)
o 2,888,000& - 0& = 2,888,000
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511X & = & 3| 409,400 88,500 | 320,900 [= 409,400]
O JIRASHSAIE
> 20,000,000& - 10,000,00 = 10,000,000
O NHetEE-MASOt AN 2R3
° 20,000,000& - 0 = 20,000,000
O JIEHIE=E=2
o ABISKIAIE Z2LHI =5 28 N =83
290,900,000& - 0 = 290,900,000
oglop 2 =|81j00 E =3 347,396 286,000 61,396 |[ At 93,607] [& 253,789]
SM8EZ0l &3 93,607 55,000 38,607 |O 8EL0IEZ (Xt 93,607]
° 93,607,000& - 55,000,000 = 38,607,000
812l 8E & 0l & 3| 253789 231,000 22,789 | O MEZ0IE3(ZR3) [= 253,789]
(= & 3) o 253,789,000& - 231,000,000& = 22,789,000
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£ 1,916,484 1,307,200 | 610,284 | [= 946,340] [Al 95,769] [J1 77,568] [X+ 126,018] [£ 674,789]
| 820935| 776.213| 53,722 |[% 633,840] [Al 95,769] [JI 29,953] [ X 53,437] [% 16,936]
I 601,967 | 594,868 | 7,099 |[& 502,376 [Al 62,859] [JI 29,953] [X} 3,855] [5 2.924]
E of 477,229 477,906  2677|0 20 [ 397,929] [AI 53219] DI 25,:867] [X+19] [ 19B]
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477,229,002 - 477,906,000 = 677,000
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10,200,002 - 8,640,000% = 1,560,000
o A2 9| g
17,918,002 - 17,943,000 = 225000
115]gl = 2| 50671| 44860| 5811]0 Em3 % ERERZ [S43609] [Al4653] [DI2364] (X 12] [5 ]
RN T > Tl 140]
50,671,0002! — 44,860,008 = 5,811,000
f6[Aalzaeea] 45949 45519 £30|0 Mal2EREE (S 37.9%7] (A 4987 DI 52 [X2470](F 3]
- T2 140]
45,949,0002! - 45,519,008 = 430,000
2(g 2z 100,070|  64,770|  35300|[% 61,700] [Al 1,500] [t 36,870]
210 2 2 o 8] 34500] 21,900] 12,600 |O Jl2SH [ 15,600] [Al 1,500] [X 17,400]
S JIR2Y ¥ KEIR YR S
12,000,002 — 4,800,000% = 7,200,000
- Bl Y BT} 22
5,000,000 - 1,400,000 = 3,600,000
© RIRSAT 23] L BAKIR S
1,200,002 - 0% = 1,200,000
- SREN 22 2 222
2,200,0008! - 1,600,000 = 600,000
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o 3| [MLXH
18,000,000& - 12,000,000& = 6,000,000
o AE 1401 [P XH
12,500,000& - 0& = 12,500,000
123 I 35,070 30,870 4,200 |O 2/l [ 28,100] [X}6,970]
- HERE 29
8,150,000& - 7,750,000& = 400,000
o 25 39 ¥ 2tZ3
4,620,000& - 4,320,000& = 300,000
o HOl OIAlel-Z3] & QIAIRIAEE]
19,500,000& - 16,400,000& = 3,100,000
o AYRLYUT 2HAAD 29
1,000,000& - 750,000 = 250,000
o J|RASHISAY 2 2FH 2
600,000& - 450,000& = 150,000
B3 g b 127,898 | 116,575 11,328 |[& 69,764] [Al 31,410] [+ 12,712] [= 14,012]
131 ull 10,700 9,600 1,100 |O 0O4b] [< 9,400] [Al 800] [Xt900]
o & 150 S0
10,700,000& - 9,600,000 = 1,100,000
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70,848 61,257 9,591 |O =84l & &2 [=28591] [Al 21,683] [Xt7,762] [= 12,812]

o SEIINEE S RUIES HIE

1,230,000& - 1,800,000& = Ab70,000
o LW ARE S| Bz

1,980,000& - 2,700,000& = A720,000
c NFES & 428 78

11,649,000& - 8,400,000 = 3,249,000
o 245 WAL =HIEE 78

3,600,000& - 4,996,000 = /1,396,000
o P01 AIAE 9|

4,596,000& - 4,008,000& = 588,000
o o3| 22 2HIE

,800,000& - 800,000& = 1,000,000
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1,000,000& - 700,000& = 300,000
o AYAILQOIMBAL =23

420,000& - 730,000 = A310,000
o ARISXIAF Bl E0H|

784,000& - 672,000 = 112,000
o NRISXIANE-EHHl S28 & FAF &2t

3,800,000& - 2,500,000 = 1,300,000
o ARIEXEs AR 24

5,000,000& - 0& = 5,000,000
o oHY MIA R &t

1,100,000& - 0& = 1,100,000
o ZE0BL 018X Jte M

247,000& - 3,00,000& = 53,000
AT 2 S

3,769,000& — 3,749,000& = 29,000
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665,000& - 560,000

- 245 gHl R S

600,000& - 400,000&
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1,095,000

105,000
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O Xkl

o

gol3 7)) SFHl
8,880,000& — 8,400,000&

o Xt ZIIFAH & HHIHI S
1,620,000& - 2,300,000&

480,000

680,000
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[ 40,000] [Xt 2,158] [#

O A&

o ARISXEAE 22 JIsE
44,801,000& - 1,000&
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2,158,000& - 0&
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O ANEEHISXH|
o golg| 32 AI2Z RAIE= H

30,000,000& - O

30,000,000

781,535

252,540

492,995

[ 272,500] [JI 47,615] [At 13,820] [= 411,600]
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155,100

112,920

42,180

O W=SaEAt|

o ASISTIAIE HEAIA
5,780,000& - 4,220,000

o M= AtI=SXIZ0F QIR
11,120,000& - 0

o HEE HEDI
29,500,000& - 0&

[& 107,000] [J135,280] [+ 12,820]

1,560,000

11,120,000

29,500,000

X s & AHE b

14,700

6,500

8,200

O XS AAAIEHI

o MIFXSARISEUERAT SSA
6,200,000& - 6,000,000&

o ARIZXIXESAL J0IES HIE
8,000,000& - 0&

[ 8,000] [X+500] [% 6,200]

200,000

8,000,000

120,000

20,000

100,000

O A=l=Xl Z2HSAE
XIotHE) BAS
120,000,000& - 20,000,000

o NH=2X(

[= 100,000] [ 20,000]
AHIA TIZAS

100,000,000
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0& - 8,000,000&
o A SAIHEYTIALY
26,250,000 - 24,500,000&
o NHESAEEAY

17,250,000& - 6,500,000

= A8,000,000

= 1,750,000

= 10,750,000
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O XNGARISAHZEAIE
o NALS] HSXESAE 22|2g

9,447,000& - 9,620,000&

= A173,000
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9,620
O SYZCYIABAIY [
o EMXIY 8FUs FEUT 2F
20,500,000& - 10,000,000&
o ZEEUT ABFANHH
13,000,000& - 3,000,000&
o AF 2SKZ(0IHEAl FEB XIR)

4,000,000& - 0¥

o Y JIRASS NSAEE AL 1S

2,888,000& - 0&

< 7,500] [0 2,833] [& 37,500]

10,500,000

10,000,000

4,000,000

= 2,888,000

O JIEIXIE=2 A EH|

o NEISXIANA ‘D2LHY SHEE 2

290,900,000& - 0&

10

= 290,900,000

O MASIHEEEXIZA
20,000,000 - 0&

= 20,000,000
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4d = 24 =2 23 20,500 | 15,000 5,500 |[Z 20,500]
M2 QA AEESZ| 20500 15000 55000 &2 [ 20,500]
(= & 2 ) o ORIRIOIE HES
8,500,0002! — 3,000,0002! = 5,500,000
08 |GlIBIHIZ DI EH 81 [0fl B 5] & DI Ef 237,554 | 257,445 | A19,891 |[ Xt 52,603] [ 184,951]
811 |0l HI HI | 209,774 | 247,135| 37,361 |O OiHIH| [X}30,233] [= 179,541]
209,774,000 — 247,135,000 = 137,361,000
812 |gt & 3| 27,780 10,310| 17,470 |[Xt 22,370] [& 5,410]
O Bietg [Xt 22,370] [= 5,410]
27,780,0002! - 10,310,000 = 17,470,000




